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100m 10 |00 [11 [20 70 80
00 |12 |00 15 180
400m 11 |30 [12 |10 20 40
100m 14 |10 |14 |30 16 20
100m 400m 1500m
)
122 100 180 40 20
145 100 200 45 30
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()

7.48

15.60
7.50
100m 00|00 |12 |05
400m 00 [ 00 |56 |02
100m 00 |00 |10 | 52
100m 100m 400m
() () () () ()
12.05 10.52 7.48 56.02 15.60
12.03 10.49 7.50 55.58 15.65
12.02 10.51 7.53 55.50 15.61
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100m ( ) | 10.46 s

100m () | 1202 |s

400m () 46.90 S

400m ( ) 55.49 S

() 15.73 m

5 253 | 253,000 200,000 30,000 483,000
6 280 | 280,000 200,000 0 480,000
7 302 | 302,000 200,000 20,000 522,000
8 325 | 325,000 250,000 0 575,000
9 318 | 318,000 250,000 0 568,000
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